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1. (a) Kevin orders some items from a butcher. ’
Complete the four entries in the following table to show his bill for these items.
Amount Item Cost (£)
45kg Beef @ £8.98 per kg 40.41
i
' 9 packs Sausages @ £4.39 per pack 39.5i
e 8 . packs Stuffing @ 38p per pack 3.04
/7 :
' 12 Steaks @ £6.32 each 1534
SC U4 = ,3% .....................
Total 15880
S [4]
Same as T O
(b) He gets a 20% discount.
How much is this discount?
................................................... LS T R
................................................. S R ———
2]
2. Circle the quantity that is the appropriate estimate for each of the following.
Length of a football pitch 120km 120m 120mm 120cm
Weight of a man @Eg/ 80¢ 80mg 800 kg
Capacity of a cup 2 litres 10cm? @nl/ Iml
'//":_:::;\\
Area of a page in a book 4m? 400 cm? 40mm? 400cm?
Saad &

I
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3. A boxisplaced on a scale.

: Examiner
only
8 identical blocks are then placed in the box

i
]_HHO’—_l_’ blocks
E = E 7] I
1kg 0 1kg O
g0 soo o\ s
~ 200/ =,
\:300 | \:
\\ \\
600 /1111 400 6(;(/)//’ 400
500 500

Find how much one block weighs.

................................................. 5?!’3](,&)6,\:‘%&“374(/

T
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(b) (i) Measure, in centimetres, the length of the line 4B in the diagram below.
Lengthof AB= ... l ‘Q .............. cm
(1]
(i

(i) Draw a line perpendicular to 4B that passes through C.

4. (a) Writedown the special name of the straight line shown in each of the following diagrams.

T
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(a)

The above shape is the outline of a pond in a park.

It is drawn on a square grid where each square represents 6m?.

Estimate the area of the surface of the pond.
ST ':/Siyuw*‘b ..........................................................................................................................
............................................ =191 8 -

Area of the surface of the pond = ... 3 ("(/ ........................ m?

[3]

RN
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(b) Complete the following figure so that it is symmetrical about the line PQ. o
\\

P 0
N ,
\\\\\ U j /
//

4370
04000
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6. The diagram shows a sketch of a triangular prism.

4cm

3cm

Draw an accurate net of the triangular prism.
The 7cm by 3cm face has been drawn for you.

[4]

M
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7. (a) Draw a circle around all of the following fractions that are equal to 0-6. .
By 1L gl O c i Jig 5
20 6 15 .4 10 20
(2]
(b) Shade 75% of the following figure.
o 4
Lf\
31
<
(1]
(¢) What fraction of the following shape is shaded?
Give your answer in its simplest form.
] 1’ |
............................................ LT ONEETS | TR R LT PRI TR
2]
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8.

(a) Complete the following table, which shows the temperature at 11:00p.m., the change in
temperature and the temperature at 11:00a.m. the next day, in each of three places.
The first one has been done for you.

Temperature Temperature
Blace at 11:00p.m. Change at 11:00a.m. next day

Swansea -1°C Up 4°C 3°C

New York _2°C Up 2°¢ 0°C

Moscow - ga(, Up 5°€ =3*C
2]

(b) Calculate 53% of 82.

......................................... RN oo MR L e N ——
e e RSO i B st e
(2]

(¢c) Each block shown in this tower is to have a number displayed on it.
For each pair of blocks that are next to each other in the same row, the number on the

block above them is the total of the numbers on the two blocks.

Some numbers are already displayed.
What number should be written on the box marked X?

13

(&%
Ui
(%)
(0/0]

T
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9. (a) Describe in words the rule for continuing the following sequences. d
\ |
l (1) 5 9 13 17 D s \
| Rule: o Add. el bo_cach tema fo ... . |

................ I G T4 L —

(1]
(i1) 243 8l 27 9 T e N

Rule: ... ( ('VIC(L ........ (’C(CVI ........... 66{777[/7 ........ /%U‘CL ......... ZZC/ .........................

(1]
| (b) (i) A toy costs?pence. Write down, in terms of ¢, the costA/Of the toy in £. l
| [p ............ 1 or A OOL .. \
.................................................................... /CO\
(1] |

(i) On June 9th 2012, Beryl was m years old. Write down, in terms of /1, her age on

June 9th 2002.

..
—~
]
S~
S
4370

(c) Solve 3x-7=1L

3
iR ses e e sen et s S TR l: ........ Q/_ 7
2]
| (d) There is a connection between the x and y coordinates in the following sequence of]
points.
(1,4, @5, 6.6, @7, . \
\ -
l (i) Using the same connection, complete the following: (5, ... S' ................. )
| 1]
l (i) Using the same connection, complete the following:  (x, ... 2 i )
| -
‘\ giving your answer in terms of x.
(1]
|

i

© WJEC CBAC Ltd. (4370-04) Turn over.

040011



12
10. The amount of money (in £) saved by Alan for each of 8 months was as follows:
43 30 75 54 62 46 24 82
(a)  Find the range of the amounts saved.
XL — ZI
.......................................... :7{5%
..................................................................................................................................................................................................... [ 1]
(b) Find the mean of the amounts saved.
......................... 63430412356 162 146 £ 26 FE2
............................................................................................... R —
e LR v Sl gl mamn baol SINE b il L)
3
:«£5[ ............................................................................................................................................. [3]
(¢c) If Alan had saved £15 less every month, what would be
(1) the mean of the amounts saved, /
£b .......... less....) hm\kgce ................. ... Mean. = 237 ............................
B (1]
(i) the range of the amounts saved.
............................. %w*\ecgf’?@ c{t\mxéz)!m;
Min ,f,ls less g
l?cu\c = JE 5

Examiner
only
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11. (@) Pand Q are two ports shown on a map with scale 1cm = 8km.
Find the straight-line distance, in km, from P to Q.

3]
(b) A shipis on a bearing of 147° from P and on a bearing of 021° from Q.
Plot the position of the ship and mark it X.
(3]
i3 © WIEC CBAC Lud (4370-04) Turn over.
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12. You will be assessed on the quality of your written communication in this question.

In an examination, candidates sit 2 written papers called Paper A and Paper B.

In a forthcoming examination there are 1200 candidates, each sitting Paper A and Paper B.
In 1 day, markers can either mark 60 Paper As or mark only half as many Paper Bs.

The marking must be completed in 10 days.

How many markers are needed to complete the marking in this time?

Tolal. Papers...=..1200 . 1200 ..

So Mw“"j'%‘f ‘3’ Q{Cuji No.¢f d& ......... ‘VLCI’)?CLFL ....... |

Ccmp(le‘“e (N O day-y

A
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13. (a) Using a ruler and a pair of compasses, construct an angle of 120° at the point 4 on the

line below. [2]
\
\
(b) Using a ruler and a pair of compasses] bisect the line PQ. [2]
1
P
15 © WIEC CBAC Lud. (4370-04) \ Turn over.
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14. Miriam is planning a holiday in Pakistan. .
(a) Miriam went to an exchange bureau to get some Pakistan rupees for her holiday.
She exchanged £540 for 85000 Pakistan rupees.
Complete the statement below. giving your answer correct to two decimal places.
) S [0) s
............................................ fsuo = 85000  Repas
f (= ="55000
............................................................................... g‘_(.c
....................................................................... L N T R —
‘Exchange rate: £1 buys (57 %[ Pakistan rupees
(3]

+Shrs

(b) Miriam knows that when itis Ip.m. in London it is'6p.m. local time in Karachi, Pakistan. |
Miriam is booked onto a flight leaving London on Tuesday at 13:50. ‘

The flight time is 7 hours 51 minutes.

% (i) On which day and at what local time should Miriam land in Karachi?

T 13-50 4+ Shis 4 The SI M0
| . [-50 + IAhf S| min
................. T =X S (o s XA ——
RS- N Yo W R W T 3 V2 R R ——
e 2uhrs + 2 hrs shlmio o
Day ..... bbud(\eb(‘ats Landing time ........ OR:Gl..
1 4]
1 6 © WIEC CBAC Ltd. (4370-04)
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(i) Miriam’s flight actually arrived 7 hours 45 minutes after departure.
The aeroplane flying speed between London and Karachi was 434 knots.
Given that 1 knot is 1-85 km/h, calculate the flying distance between London and

Karachi. ' T s ]
i . . Y n = =
Give your answer in kilometres. thel e —% he

Time hﬂm - Thr LS min

=  7-715 hrs

e ettt ete ettt e beamam——— e s S8 e £ e s h e et e h e e e saeer e se e e et e et e e e a e e e e e e e et h e e s e e ae e e reah e aaanaaeeanaeeannen

é 2225 km. = Distance w;~<c/
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15. Across the world, temperatures are measured using different units. i
All the unit scales are uniform.
Approximate conversions are often used to give a reading in more than one unit in scientific
reports.
Use the information given below to complete the tables.
(a) ; .
degrees Celsius degrees Fahrenheit
2
~ 4o il B Y
30 % 86 \// =5
\ -i-[[o Y _;(' !é/
40 tl 104 \//\
ERS /10
ot 122,
60 140
70 158
...................................................................................................................................................................................................... [ 11
(b) kelvin degrees Celsius
0 - 233-1iS 1
o¢C = j [cU
100 & o
o b e R \
200 %7 ~7315 I‘Z = e
300 &+ 2685 £ TG
400 126-85
500 226-85
i / o
............................................................... /)UALCJ\JC.Z'U/“CMtifL
.................................................................................... Suﬂuéw@o)%/wmc/!,{//tu
\ (2]

i
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kelvin degrees Celsius degrees Fahrenheit
0 66:85 °C 152 33°F
jie(\/.m ancd °C
................................ 300 4 KO m BHO [& e
2685 + 4o = £6-85C
............................... N S
.................................................... g
JOC = I8 F e
......................................................................................... e
................................................ o BB e —
5
 g.gSc = b-%sSxl-g = 1233 .
o boc = ot Bl
66-ssC = Iyo+12:33
= (§2+33 °F
1 9 © WIEC CBAC Ltd {4370-04) Turn over.
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16. The diagram shows a rectangle ABCD.

A B

Diagram not drawn to scale

the sentences below for your 3 selections.

: B : : CDE
Triangle ...... ABE 1s congruent to triangle .. ... [’t ...........
Triangle ... L is congruent to triangle ... ""Cﬁ .............

7 - 4 <
Triangle ... ALD. ... is congruent to triangle ... AbBC.. ...

& g L ﬁg /:CD

eq /'/"*/ L/ A~ ngue ~
e ’//
(\ v

eke

Select 3 different pairs of congruent triangles shown in the diagram above and then complete

A

© WIEC CBAC Ltd. (4370-04)
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17. A factory production line packs buttons into bags.
There are exactly 80 buttons packed into each bag.
There is a mixture of different coloured buttons in each bag.
A total of 600 bags of buttons were packed in a day.

The first 100 bags were checked and it was found that a total of 1200 red buttons had been
used.
In the 600 bags of buttons it was found that the relative frequency of red buttons packed was
40%.

Calculate the relative frequency of red buttons packed in the final 500 bags.

Fusk 100 baaS
o —

e, Rl /frﬂi/ .. Fma@ °C0 /3("75
Recl |

.................................... Total bl = S00x.20.7.40.000..

[7]

4o g
=5 s

M
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